EE 475 Fall 2007 Quiz #12
Name:





1. Suppose systemA’s gc is 10 times that of systemB while both have 45 deg PM. Compare the following:

a. SystemA’s closed-loop BW is 


  systemB’s BW.

b. SystemA’s resonance frequency r is 


  systemB’s r.

c. SystemA’s resonance peak Mr is 


  systemB’s Mr.

d. SystemA’s phase crossover freq pc is 


  systemB’s pc.

e. SystemA’s gain margin MG is 


  systemB’s MG.

f. SystemA’s initial response speed is 


  systemB’s speed.

g. SystemA’s settling time is 


  systemB’s settling time.

h. SystemA’s oscillation frequency d is 


  systemB’s d.

i. SystemA’s percentage overshoot Mp is 


  systemB’s Mp.

j. SystemA’s dominant pole real / imag ratio is 


  systemB’s dominant pole real / imag ratio.

























